The Life of the Kitchen?

CPTS/CPTD Wall Oven

IMPORTANT: This product may have some parts that are No Longer Available (NLA).
If the part you need is no longer available, please contact Dacor for a possible solution:

DACOR CARES PROGRAM
NLA Part Locator Service

Customer Contact Number: Service Agent/Technician Contact Number:
(800) 793-0093 ex. 2813 (800) 793-0093 ex. 3814
Hours: 6:00 am - 5:00 pm Pacific Time Hours: 7:00 am - 4:00 pm Pacific Time

Web Inquiries: www.dacor.com/dacorcares Email Inquiries: dacorcares@dacor.com

Please provide the following information:
* Your name and phone number
* Product model number
* Product serial number
* The part number(s) you need

Page # Description
2 Door Components Glick Here
3 Double Oven Chassis Click Here
4 Upper Oven Components Click Here
5 Lower Oven Components (Convection) Click Here
6 Lower Oven Components (Non-Convect) Click_Here
7 Parts List Click Here

Revised 12-09-2013

Dacor Technical Service » 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267 « FAX 909-348-5601



CPTS/CPTD Wall Oven Door Components

Part Numbers - Click Here Back to Front Page - Click Here

(®

SN

Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814

The Life of the Kitchen Page 2
Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 ¢ Phone 800-353-2267  FAX 909-348-5601




CPTS/CPTD Wall Oven Double Oven Chassis

Part Numbers - Click Here Back to Front Page - Click Here

(29)

,/é\
e

NN

Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814

; 3

The Life of the Kitchen® Page 3
Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 ¢ Phone 800-353-2267  FAX 909-348-5601




CPTS/CPTD Wall Oven Upper Oven Components

Part Numbers - Click Here Back to Front Page - Click Here

Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814

The Life of the Kitchen® Page 4
Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 ¢ Phone 800-353-2267  FAX 909-348-5601




CPTS/CPTD Lower Oven Components (Convection)

Part Numbers - Click Here Back to Front Page - Click Here

E ;F» Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814

The Life of the Kitchen Page 5
Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 ¢ Phone 800-353-2267  FAX 909-348-5601




CPTS/CPTD Lower Oven Components (Non-Convection)

Part Numbers - Click Here Back to Front Page - Click Here

Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814

The Life of the Kitchen® Page 6
Dacor Technical Service ¢ 14425 Clark Avenue Industry, CA 91745 ¢ Phone 800-353-2267  FAX 909-348-5601




CPTS/CPTD Wall Oven Parts List

Back to Front Page - Click Here

Parts Numbers - 27-Inch Parts Numbers - 30-Inch
Item Description CPTS127 CPTS227 CPTD227 CPTS130 CPTS230 CPTD230
1 Cover, Convection Opening NA 26545BP NA NA 26545BP NA
2 Baffle, Air (Lower) NA 26599 26599 NA 26634 26634
3 Baffle, Convection 26595BP 26595BP 26595BP 26655BP 26655BP 26655BP
4 Baffle, Rear (Lower) NA 26608 26608 NA 26608 26608
5 Bezel, (Touchpad)* 86389 B,R 86390 B,R 86391 B,R 86392 B,R 86393 B,R 86394 B,R
*Use Bezel Assembly Below Starting With Serial Number AA8100971
5 Bezel, Assy (Touchpad) 13293 B,R 13294 B,R 13295 B,R 13296 B,R 13297 B,R 13298 B,R
5A | Ball Stud (Extended) 83412 83412 83412 83412 83412 83412
5B | Ball Stud Nut 83308 83308 83308 83308 83308 83308
6 Blade, Convection Fan 82651 82651 82651 82651 82651 82651
7 Block, Terminal 82151 82151 82151 82151 82151 82151
Blower, Cooling 82986 82986 82986 82986 82986 82986
9 Bracket, Conduit Mounting 26584 26584 26584 26584 26584 26584
10 | Bracket, Conduit Mounting 26584 26661 26661 26584 26661 26661
11 | Bracket, Stiffener 26606 26606 26606 26606 26606 26606
12 | Bracket, Oven Support NA 26611 26611 NA 26611 26611
13 | Brkt, Bezel Mounting (Left) 26615 26615 26615 26615 26615 26615
14 | Brkt, Bezel Mounting (Right) 26614 26614 26614 26614 26614 26614
14A | Brkt, Terminal Block NA 26605 26605 NA 26605 26605
14B | Block, Terminal NA 83556 83556 NA 83556 83556
14C | Bushing, Plastic NA 83056 83056 NA 83056 83056
15 | Bulb, Light (40W) 82089 82089 82089 82089 82089 82089
16A | Case Top 26581 26581 26581 26629 26629 26629
16B | Case Back 26596 26596 26596 26632 26632 26632
16C | Case Bottom 26597 26597 26597 26633 26633 26633
17 | Case, Side (Left) 27454 27454 27454 27454 27454 27454
18 | Case, Side (Right) 27453 27453 27453 27453 27453 27453
19 | Cover Plate NA 26547 NA NA 26547 NA

®

Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen® Page 7

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 « Phone 800-353-2267 « FAX 909-348-5601




CPTS/CPTD Wall Oven Parts List

Back to Front Page - Click Here

Parts Numbers - 27-Inch Parts Numbers - 30-Inch
Item Description CPTS127 CPTS227 CPTD227 CPTS130 CPTS230 CPTD230
20 | Cell, Oven 27450BP 27450BP 27450BP 27462BP 27462BP 27462BP
21 | Conduit, CSA 26420 26430 26430 26420 26430 26430
22 | Conduit, UL 26420 26430 26430 26420 26430 26430
23 | Cover Plate (light) 26560 26560 26560 26560 26560 26560
24 | Cover, Back 27471 27472 27472 27476 27477 27477
25 | Cover, Exhaust Duct 26580 26612 26612 26658 26659 26659
26 | Cover, Top Front 26965 26965 26965 26966 26966 26966
27 | Cover, Top Rear 26600 26600 26600 26635 26635 26635
28 | Duct, Transition 27455 27455 27455 27455 27455 27455
29 |E.R.C 62700 62685 62685 62700 62685 62685
30 | Elbow, Conduit 82196 82196 82196 82195 82196 82196
31 | Elbow, Conduit 82195 82195 82195 82195 82195 82195
32 | Element, Bake 82989 82989 82989 86745 86745 86745
33 | Element, Broil 82817 82817 82817 82817 82817 82817
34 | Element, Convection 82377 82377 82377 82377 82377 82377
35 | Exhaust Duct 27427 27456 27456 26656 26657 26657
36 Exhaust Duct Divider 27428 27457 27457 27428 27457 27457
37 | Exhaust Tube 82695 82695 82695 82240 82240 82240
38 | Filter, Convection 82891 82891 82891 82891 82891 82891
39 | Fuse Box Assembly 12400 12401 12401 12401 12401 12401
40 | Fuse Holder 15 Amp 86674 86674 86674 86674 86674 86674
41 | Fuse Holder, 30 Amp 82506 82506 82506 82506 82506 82506
42 | Fuse, 15 Amp 83110 83110 83110 83110 83110 83110
43 | Fuse, 30 Amp 83112 83112 83112 83112 83112 83112
44 | Grille, Air Intake 26609B 26609B 26609B 26638B 26638B 26638B
45 | Grille, Exhaust 13123 B,R 13123 B,R 13123 B,R 13124 B,R 13124 B,R 13124 B,R
46 | Harness, ERC to Relay (lower) NA 82446 82446 NA 82446 82446
47 | Harness, ERC to Relay (upper) 82445 82445 82445 82445 82445 82445
: Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen® Page 8

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 « Phone 800-353-2267 « FAX 909-348-5601



CPTS/CPTD Wall Oven Parts List

Back to Front Page - Click Here

Parts Numbers - 27-Inch Parts Numbers - 30-Inch

Item Description CPTS127 CPTS227 CPTD227 CPTS130 CPTS230 CPTD230
48 | Harness, Oven Light (Lower) NA 82816 82816 NA 82816 82816
48A | Harness, Oven Light (Upper) 62305 62305 62305 62305 62305 62305
49 | Harness, E.R.C. to Adapter 62306 62306 62306 62306 62306 62306
50 | Harness, Sensor/Lock (Lower) NA 82449 82449 NA 82449 82449
51 | Harness, Sensor/Lock (Upper) 82447 82448 82448 82447 82448 82448
52 | Hinge, Roller 82851 82851 82851 82851 82851 82851
53 | Door Latch Kit 701582 701582 701582 701582 701582 701582
54 | Lead Wire Kit 86672 86670 86670 86672 86670 86670
55 Lead Wire Kit 86673 86671 86671 86673 86671 86671
56 | Light Service Kit 701750 701750 701750 701750 701750 701750
57 | Motor, Convection 82647 82647 82647 82647 82647 82647
58 | Mounting Brkt Lower Fan NA 26607 26607 NA 27475 27475
59 Mounting Plate, Conv. Mtr. 27470 27470 27470 27470 27470 27470
60 | Mounting Plate, Latch Must replace entire latch assembly, order item # 53
61 Plate, Bottom Exhaust 26602 26602 26602 26637 26637 26637
62 | Plate, Relay Mounting 26604 26604 26604 26604 26604 26604
63 | Relay Board (Lower) NA 82985 82994 NA 82985 82994
64 | Relay Board (Main) 82127 62439 62439 82127 62439 62439
65 | Sensor, Oven Temperature 86663 86663 86663 86663 86663 86663
66 | Smoke Eliminator 82826 82826 82826 82826 82826 82826
67 | Sub Chassis 27452 27452 27452 27463 27463 27463
68 | Support Rack 82650 82650 82650 82650 82650 82650
69 | Thermal Cutout (Lower) NA 82987 82987 82987 82987 82987
69 | Thermal Cutout (Upper) 82987 82987 82987 82987 82987 82987
70 | Trim, Left 27467 A,B,W,R 27467B,R 27467B,R 27467B,R 27469B,R 27469B,R
71 | Trim, Right 27466B,R 27469B,R 27469B,R 27466B,R 27468B,R 27468B,R

¥ Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen® Page 9

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 « Phone 800-353-2267 « FAX 909-348-5601



CPTS/CPTD Wall Oven Parts List

Back to Front Page - Click Here

Parts Numbers - 27-Inch Parts Numbers - 30-Inch

Item Description CPTS127 CPTS227 CPTD227 CPTS130 CPTS230 CPTD230
72 | Trim, Control Panel 62003B 62003B 62003B 62150B 62150B 62150B
73 | Adapter Module 62259 62258 62126 62259 62258 62126
74 | Sub-Panel 26551 26551 26551 26551 26551 26551
76 | Frame, Glass Mounting 27093 B,R 27093 B,R 27093 B,R 27241 B,R 27241 B,R 27241 B,R
77 | End Cap, Handle, Right 62111 B,R 62111 B,R 62111 B,R 62111 B,R 62111 B,R 62111 B,R
78 | End Cap, Handle, Right 62110 B,R 62110 B,R 62110 B,R 62110 B,R 62110 B,R 62110 B,R
79 | Gasket, Door 82691 82691 82691 82124 82124 82124
80 | Thermocord 26429 26429 26429 26429 26429 26429
81 | Glass, Inner Pack Assembly 82954 82954 82954 82954 82954 82954
82 | Glass, Outer 62125 B,R 62125 B,R 62125 B,R 62124 B,R 62124 B,R 62124 B,R
83 | J-Trim 82790BP 82790BP 82790BP 82790BP 82790BP 82790BP
84 | Handle, Door 62123 B,R 62123 B,R 62123 B,R 62109 B,R 62109 B,R 62109 B,R
85 | Tape, Double Sided 83224 83224 83224 83224 83224 83224
86 | Hinge, Door 82883 82883 82883 82883 82883 82883
87 | Instruction Plate 82873 82873 82873 82873 82873 82873
88 | Insulation 80173 80173 80173 80172 80172 80172
89 | Liner, Inner 86746 86746 86746 86746 86746 86746
90 | Liner, Outer 86744 86744 86744 86746 86746 86746
91 | Shield, Inner Door (white door only) 26575 26575 26575 26574 26574 26574
92 | Shield, Inner Door (black door only) 26575B 26575B 26575B 26574B 26574B 26574B
93 Shield, Left 26577 26577 26577 26577 26577 26577
94 | Shield, Right 26576 26576 26576 26576 26576 26576
96 | Cover, Broil 82106 82106 82106 82106 82106 82106
98 | Pan, Broil 82107 82107 82107 82107 82107 82107
99 | Rack, Convection 82246 82246 82246 82230 82230 82230
100 | Rack, Non Convection NA 82247 NA NA 82231 NA

: Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen” Page 10

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 « Phone 800-353-2267 « FAX 909-348-5601



CPTS/CPTD Wall Oven Parts List

Back to Front Page - Click Here

Screws and Fasteners
Item Description Parts Number
F1 | Screw #10 X 3/8 83023
F2 Screw #8 X 3/8 Truss 83024
F3 | Screw #10 X 3/4 83026
F4 | Screw #8 X 3/8 Wafer 83263
F5 | Screw #6 X 3/8 Truss 83570
F6 | Screw #8 X 3/8 Enamel 83534
F7 | Washer, Fiber 83555
F8 | Screw #8 X 3/4 Pan 83010
F9 | Screw #8 X 3/8 Enamel 83534
F10 | Screw #8 X 3/8 83019
F11 | Screw 83569
F12 | Screw #10 X 1/2 Truss 83022
F13 | Screw 8/32 X 1/2 Pan 83336
F14 | Screw #8 X 3/8 Wafer 83571
F15 | Screw 8/32 X 1/2 Pan 83572
F16 | Screw 5 X 10 MM Socket 83553
F17 | Washer #10 Tooth Lock 83340
F18 | Screw #8 X 5/8 Pan 83042
F19 | Nylon Standoff 83538
Wﬁ Part no longer available? Contact Dacor: (800) 793-0093 ex. 3814
The Life of the Kitchen” Page 11

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 « Phone 800-353-2267 « FAX 909-348-5601



	Click Here: 


